> #QL

> P:=Matrix(5,5,[00,0,1,0,0,0,0,0,1,0,0,0,0,1,0,1,0,0,0, 2/5,0,
| 3/5,0,0]):
| > wi th(Li near Al gebra):
| > T := DeleteRow( DeleteColumn( P, 3), 3) :

> (Matrixinverse(1 — T).Vector(4,1))[1]; #parta)
20

I 3 1)
| > s:=Linear Sol ve(Transpose(1-P), Vector(5)):
s[3] .
add(s[i]i=1.5) & 7 parth)
3
i 14 )
[ > #Q2
_ - 1,11 11 1,11 11
>P-—Matr|x(7,7,[0,4,0,4,4,4,0 50.0,5.0,%,5.000100,0 %,
%,o,o,o,%,o,o,o,o, ,o,o,o,o,o,o,o,1,0,0,0,0,0,0,0,1])
> (P[[1.4], [1..4]T". Vector(4,1))[3]; #parta)
29 3)
_ 128
> (Matrixinverse(1 —P[[1..4],[1..4]]).P[[1.4],[5..7]1])[3, 1]; #partb)
2 (@)
i 7
[ > #Q3
_ - 3 4,1 2 .
>P= Matrlx(4,4, [0,0,0,1,0,0,1,0, 2,0.0,2,0, 3,0]).
| > s:= LinearSolve( Transpose(1-P), Vector(4)) :
S[2] .
add(s[i]i=1.4) & 'Parta)
.
! =8 (5)
> (Matrixinverse(1 —P[[3,4], [3,4]1).P[[3,4],[1,2]])[1,1]; #parth)
2 ©)
| 13
[ > #Q4
_ - 11 1 1 11
=>P-—Matr|x(4,4 [100000 S5 5 50,000, 2])
> 2+ Transpose(Vector(%, 3) ) Matrixinverse(1 —P[[2..4], [2..4]]).Vector (3, 1);
_ 6 )
[ > #Q5
_ : 11 1 1 1 111,111
>P.—Matr|x(6,6,[0, 2. 5:0,00,2,00,2,0,0,007, /. 5.0 7, 2.0 7,




1 1 .
0,0,0, >, 2,o,o,o,o,l,o,o,oD.

[~ Q:=P*:Q[1,5]; # parta)

< ®)
;> s:= LinearSolve(1 — Transpose(P), Vector(6) ) :
s[5] :
add(s[ili=1.6) Pt
1
7

)
[ >



